12400 Earl Jones Way

® Louisville, KY 40299
rev-a-shelf.com
. . Customer Service: 800-626-1126
¥

INSTALLATION INSTRUCTIONS

SYSTEM HOLE INSTRUCTIONS

TOOLS REQUIRED: Parts List A.

@ No. Description Qty
A 1/8" Blum Spacers 4
% M5 x 11MM Flat Head Euro Screws 4

-

B
C M5 x 14.5MM Flat Head Euro Screws 4 C.
ESTIMATED ASSEMBLY TIME:
Frameless Side Wall| Corresponding |Corresponding Blum
1 5 MI N Thickness Euro Screw Spacer
3/4" M5 x 11Tmm N/A
5/8" M5 x 14.5mm 1/8"
CARE AND MAINTENANCE:
o No Blum spacer and 1/8" Blum spacer and
C!ean Withe compisothiand M5 x 11mm Euro Screws M5 x 14.5mm Euro Screws
wipe parts dry.
WATCH TUTORIALS OF OUR

PRODUCTS BEING INSTALLED

& ; ; .
 REV-A-SHELF COM/VIDEOS If system holes do not line up, use the included screws in place of the Euro screws.

INSTALLATION INSTRUCTIONS: SYSTEM HOLE INSTRUCTIONS |-SHSS-0619



